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	1.
	T / F The Internet provides powerful advantages to both the provider of goods and services and to consumers. 


	2.
	Just-In-Time Inventory Management benefits companies by

	A)
	Increasing the quality of their product

	B)
	Increasing the speed of producing their product

	C)
	Minimizes in-process inventories which reduces costs

	D)
	All of the above


	3.
	T / F The business environment includes the social, economic, legal, physical, and political factors that impact the organization. 


	4.
	A Megabyte is ______ bytes

	
	A)  4,097,152    B)  1,024    C)  1,000,000    D)  1,048,576


	5.
	Rapid technological innovation can lead to which of the following? 

	A)
	shorter product life cycles 
	C)
	faster product obsolescence 

	B)
	increasing product quality 
	D)
	all of the above 


	6.
	Information technologies can enhance total quality management in which of the following ways? 

	A)
	improve process monitoring 

	B)
	improve the collection and analysis of quality data 

	C)
	increase the effectiveness of quality testing 

	D)
	decrease the costs of performing quality control activities 

	E)
	all of the above 


	7.
	In business process reengineering, information technologies do all of the following except: 

	A)
	provide automation 
	D)
	encourage geographic centralization 

	B)
	permit quicker delivery to customers 
	E)
	none of the above 

	C)
	support rapid, paperless transactions 
	
	


	8.
	Which is the correct sequence? 

	A)
	information – data – knowledge 
	D)
	knowledge – data – information 

	B)
	data – knowledge – information 
	E)
	none of the above 

	C)
	data – information – knowledge 
	
	


	9.
	One indicator of information's value to an organization is: 

	A)
	if hackers attempt to breach security and steal it 

	B)
	whether the information can be sold to customers 

	C)
	how rapidly data can be transformed into this information 

	D)
	how it aids decision makers in achieving organizational goals 


	10.
	An Excel spreadsheet is an example of which element of a computer-based information system? 

	
	A)  hardware     B)  procedures     C)  people     D)  software 


	11.
	T / F All information systems in an organization must be interconnected. 


	12.
	Major components of the organization's information infrastructure include: 

	A)
	databases 
	D)
	information management personnel 

	B)
	networks and communications facilities 
	E)
	all of the above 

	C)
	computer hardware and software 
	
	


	13.
	Transaction processing systems perform all the following functions except: 

	A)
	data storage 
	D)
	data capture 

	B)
	data processing 
	E)
	none of the above 

	C)
	data display 
	
	


	14.
	Management information systems perform all the following functions except: 

	A)
	capture data 
	D)
	forecast trends 

	B)
	support routine decisions 
	E)
	generate reports 

	C)
	provide answers to queries 
	
	


	15.
	Office automation systems consist of all the following except: 

	A)
	word processing applications 
	D)
	document management applications 

	B)
	decision support applications 
	E)
	none of the above 

	C)
	communications applications 
	
	


	16.
	Which organizational structure is best suited to most modern organizations? 

	A)
	The traditional organizational structure is usually the best. 

	B)
	The matrix organizational structure is best. 

	C)
	It depends on the goals of an organization and its approach to management. 

	D)
	The hierarchical structure is best for most nonprofit organizations. 


	17.
	An example of using an information system for strategic purposes is which of the following? 

	A)
	a firm's use of electronic mail 

	B)
	a firm's use of an automated payroll system 

	C)
	a firm's use of colored graphics on its internal reports 

	D)
	a firm's use of a large central data repository to create a sales database for the sales force 


	18.
	T / F Computer technologies become obsolete faster than other technologies in the organization. 


	19.
	T / F The arithmetic-logic unit controls the flow of information in the CPU. 


	20.
	Moore's law states that a computer's complexity (and hence it's speed) doubles every ______ year(s)

	
	A)  2    B)  4    C)  1    D)  1/2


	21.
	T / F Binary data consists of only 0's and 1's. 


	22.
	T / F Buses are the electrical pathways on which the data and instructions travel. 


	23.
	The central processing unit consists of all the following components except: 

	
	A)  secondary storage     B)  arithmetic-logic unit     C)  control unit     D)  registers 


	24.
	If an organization procures new hardware, all of the following may occur except: 

	A)
	integration with existing systems will be simplified 

	B)
	personnel can use the new computers with no training 

	C)
	the firm's existing software can still be used 

	D)
	data in existing formats may be used 

	E)
	none of the above, all may occur 


	25.
	Increased microprocessor complexity comes from all the following except: 

	A)
	using new materials for the chip that increase conductivity 

	B)
	increasing line width 

	C)
	increasing transistor miniaturization 

	D)
	none of the above 


	26.
	Which of the following microprocessor architectures has comprehensive instructions, directing every aspect of chip functioning? 

	
	A)  RISC     B)  VLIW     C)  EPIC     D)  CISC     E)  none of the above 


	27.
	Which of the following microprocessor architectures eliminates rarely used instructions? 

	
	A)  RISC     B)  EPIC     C)  CISC     D)  VLIW     E)  none of the above 


	28.
	Arrange in the correct sequence, from smallest to largest: 

	A)
	terabyte – gigabyte – megabyte – kilobyte 

	B)
	kilobyte – megabyte – gigabyte – terabyte 

	C)
	kilobyte – gigabyte – kilobyte – terabyte 

	D)
	megabyte – kilobyte – gigabyte – terabyte 


	29.
	The part of primary storage that holds a software program (or portion of it) and small amounts of data when they are brought from secondary storage is called: 

	A)
	registers 
	D)
	random access memory 

	B)
	flash memory 
	E)
	cache memory 

	C)
	read-only memory 
	
	


	30.
	When your computer needs to run an application program larger than its random access memory, which of the following types of primary storage is used? 

	
	A)  flash memory     B)  registers     C)  cache memory     D)  read-only memory 


	31.
	If you wished to store a large amount of archival data for a long period of time, you would choose which of the following? 

	A)
	read-only chips 
	D)
	magnetic disk 

	B)
	cache chips 
	E)
	none of the above 

	C)
	magnetic tape 
	
	


	32.
	Many computer manufacturers are offering _____ that can reduce repetitive stress injury. 

	A)
	training videos 
	C)
	wrist braces 

	B)
	frequent breaks 
	D)
	ergonomic keyboards 


	33.
	T / F At corporate level, hardware costs more than software. 


	34.
	T / F Application software is the class of programs that control and support the computer system and its information processing activities. 


	35.
	Which of the following describes the functions of software? 

	A)
	directs the computer in managing its internal resources 

	B)
	enables the user to tailor a computer system to provide specific business value 

	C)
	provides instructions to run the computer hardware 

	D)
	all of the above 


	36.
	Today, software comprises a larger percentage of the cost of modern computer systems than it did in the early 1950s for which of the following reasons? 

	A)
	hardware performance has increased 

	B)
	software has become increasingly complex 

	C)
	building software applications remains slow, complex, and error-prone 

	D)
	hardware costs have decreased 

	E)
	all of the above 


	37.
	The software crisis is the result of all the following except: 

	A)
	organizations have the majority of their personnel maintaining existing applications 

	B)
	business conditions change too rapidly 

	C)
	software development is mostly automated 

	D)
	software is becoming more complex 

	E)
	none of the above 


	38.
	_____ means that two or more programs can run on the computer system at the same time. 

	A)
	multitasking 
	D)
	multiprocessing 

	B)
	scalability 
	E)
	time-sharing 

	C)
	multithreading 
	
	


	39.
	An example of personal application software is _____. 

	
	A)  UNIX     B)  Windows 95     C)  MS-Word     D)  data compression software 


	40.
	_____ programs are often used when complex calculations are required. 

	
	A)  spreadsheet     B)  graphics     C)  word processing     D)  database 


	41.
	A(n) _____ translates one program statement at a time as the computer program is running. 

	
	A)  browser     B)  interpreter     C)  object viewer     D)  compiler 


	42.
	T / F Data and information are the same thing. 


	43.
	T / F Every record must contain only one field that uniquely identifies that record. 


	44.
	If the accounting department kept a file that contained Jane Doe's address and the marketing department kept its own file that also contained Ms. Doe's address, _____ would exist. 

	A)
	data dependence 
	C)
	program dependence 

	B)
	data integrity 
	D)
	data redundancy 


	45.
	Problems with data redundancy include all the following except: 

	A)
	additional costs 
	D)
	physical storage space wasted 

	B)
	potential for data loss increased 
	E)
	none of the above 

	C)
	potential for data inconsistency 
	
	


	46.
	A major problem with centralized databases is: 

	A)
	potential for single point of failure 

	B)
	the costs associated with centralized locations 

	C)
	security concerns 

	D)
	file consistency 


	47.
	Databases are centralized for which of the following reasons? 

	A)
	security is more effective 

	B)
	database personnel can work on the entire database at one time 

	C)
	files are generally more consistent 

	D)
	save the costs associated with multiple computers 

	E)
	all of the above 


	48.
	A standardized language used to manipulate data is _____: 

	A)
	structured query language (SQL)
	D)
	MS-Access 

	B)
	data manipulation language (DML)
	E)
	data definition language  (DDL)

	C)
	Oracle 
	
	


	49.
	T / F The primary key is a field that uniquely and completely identifies a record. 


	50.
	T / F Different addresses across different applications is an example of a data integrity problem. 


	51.
	T / F Security is relatively easy to enforce in the file management environment. 


	52.
	Place the following members of the data hierarchy in the correct order: 

	A)
	bit – field – byte – record – file – database 

	B)
	bit – byte – field – record – database – file 

	C)
	bit – byte – field – record – file – database 

	D)
	byte – bit – record – field – database 


	53.
	Which attribute would make the best primary key? 

	
	A)  address     B)  last name     C)  first name     D)  user ID


	54.
	T / F Telecommunications systems can transmit only data. 


	
	Use the following to answer questions 55-57:
Matching (for each of the following questions, A is twisted-pair wire, B is coaxial cable, and C is fiber optic cable)

	55.
	____ most secure 

	56.
	____ most prevalent today 

	57.
	____ most expensive 


	58.
	T / F Digital signals have two parameters, frequency and amplitude. 


	59.
	T / F The greatest advantage of radio is that the devices are fairly inexpensive and easy to install. 


	60.
	_____ is a logical model that describes how networks are structured or configured. 

	
	A)
	data modeling 
	C)
	network topology 

	
	B)
	network data modeling 
	D)
	ring topology 


	61.
	Digital transmission offers which of the following advantages? 

	A)
	greater voice clarity 
	D)
	greater transmission capacity 

	B)
	fewer errors in data transmission 
	E)
	all of the above 

	C)
	less susceptibility to interference 
	
	


	62.
	T / F The Internet is one large, seamless network. 


	63.
	T / F The Internet has an open, nonproprietary, uniform, and standard set of protocols. 


	64.
	T / F Europe and the United States are approximately equal in Internet usage. 


	65.
	T / F The democratization of information means that censorship does not affect Internet content in any countries. 


	66.
	T / F The number of Internet users in the United States as a percentage of all Internet users is increasing. 


	67.
	T / F Packets traveling across the Internet must follow the same path to be able to arrive in sequence at their destination. 


	68.
	T / F An intranet is a public network that uses Internet software and TCP/IP protocols. 


	69.
	The Internet protocols are characterized by all the following except: 

	
	A)  standard     B)  open     C)  proprietary     D)  uniform     E)  none of the above 


	70.
	One of the Internet's high-speed, long-distance links is called a _____. 

	
	A)  LAN     B)  WAN     C)  TCP/IP     D)  backbone 


	71.
	Consider this domain name, www.business.gsu.edu.  The "edu" is the: 

	A)
	URL 
	D)
	top-level specification 

	B)
	Web site locator 
	E)
	none of the above 

	C)
	name of the computer 
	
	


	72.
	Consider this domain name, www.business.gsu.edu.  The "gsu" is the: 

	A)
	name of the specific computer 
	D)
	name of the organization 

	B)
	URL 
	E)
	none of the above 

	C)
	top-level specification 
	
	


	73.
	Consider this domain name, business.gsu.edu.  The "business" is the: 

	A)
	name of the organization 
	D)
	URL 

	B)
	name of the specific computer 
	E)
	none of the above 

	C)
	top-level specification 
	
	


	74.
	Consider this domain name, www.xyz.abc.ca.  The "ca" is the: 

	A)
	URL 
	D)
	top-level specification 

	B)
	the country designator 
	E)
	none of the above 

	C)
	name of the organization 
	
	


	75.
	GlobalEyes provides individuals with access to the Internet but offers no extended services.  This company is a(n) _____. 

	A)
	application service provider 
	C)
	Internet service provider 

	B)
	on-line service 
	D)
	SLIP/PPP server company 


	76.
	When related replies to a message are grouped within a newsgroup, a _____ exists. 

	A)
	topic area 
	C)
	unmoderated discussion 

	B)
	discussion thread 
	D)
	moderated discussion 


	77.
	IRC is a type of Internet chat where users _____. 

	A)
	speak aloud to communicate 
	C)
	type their messages 

	B)
	can neither speak nor type messages 
	D)
	view each other while speaking 


	78.
	A technique for playing continuous video and sound from multimedia files over the Internet is _____. 

	
	A)  Streaming     B)  FTP     C)  VOIP     D)  Telnet 


	79.
	_____ is a collection of independently-owned computers that provide data files accessible to browsers. 

	
	A)  World Wide Web     B)  Newsgroups     C)  FTP     D)  USENET 


	80.
	Web pages use _____ as a standard to ensure file contents can be properly displayed or used by browsers. 

	
	A)  HTML     B)  SGML     C)  XML     D)  HTTP 


	81.
	AltaVista, Infoseek, and Lycos are examples of _____. 

	
	A)  Web libraries     B)  FTP sites     C)  Search engines     D)  Web pages 


	82.
	Challenges facing the Internet in the next few years include which of the following? 

	A)
	addressing privacy concerns 

	B)
	responding to the growing need for additional bandwidth 

	C)
	making the Internet more suitable for electronic commerce transactions 

	D)
	incorporating rapidly evolving technologies, standards, and regulatory frameworks 

	E)
	all of the above 


	83.
	_____ is an inexpensive yet powerful alternative to other forms of internal communications and document management. 

	
	A)  Intranet     B)  LAN     C)  Extranet     D)  Internet 


	84.
	If financial data is encoded into a secret format and transmitted over the Internet, it has been _____. 

	
	A)  algorithmatized     B)  decrypted     C)  cryptographed     D)  encrypted 


	85.
	One method of protecting your organization's private network from unwanted Internet users is to install a(n) _____. 

	
	A)  firewall     B)  gateway     C)  FTP barrier     D)  dial-in phone modem 


	86.
	Write an Excel formula to print "negative" if the value in cell B3 < 0, "zero" if the value = 0, or "positive" if the value > 0.

	
	______________________________________________________________________


	87.
	Write an Excel formula to calculate the sum of all of the cells between A3 and A14 inclusive

	
	______________________________________________________________________


	88.
	This is a visual representation of data that is used to convey information in an easy-to-understand and attractive manner. 

	
	A)  Object    B)  Data label    C)  Chart    D)  Legend


	89.
	This provides a brief description of the symbols used in a chart that represent the data ranges. 

	
	A)  Range    B)  Object    C)  Label    D)  Legend


	90.
	When a column is not wide enough to display a result, or a negative date or time is used, this error value will display. 

	
	A)  #N/A    B)  #NULL!    C)  ####    D)  #NUM!


	91.
	If the wrong type of argument or operand is used in a cell, this error value will display. 

	
	A)  #VALUE!    B)  #N/A    C)  #REF!    D)  ####


	92.
	The cell reference, $A$10 is a(n) 

	A)
	absolute reference
	C)
	mixed reference

	B)
	incorrect reference
	D)
	relative reference


	93.
	If you are trying to determine a desired profit margin in an Excel worksheet, you could use all of the following except 

	A)
	the Goal Seek feature
	C)
	the Solver tool

	B)
	what-if analysis
	D)
	the NOW function


	94.
	An Excel workbook template is saved with a special file format with this file extension. 

	
	A)  xlm    B)  xls    C)  xlt    D)  xtf


	95.
	Excel includes two levels of this that control what information can be changed in a workbook. 

	
	A)  Format    B)  Criteria    C)  Style    D)  Protection


	96.
	To unlock cells in a worksheet, select the Protection tab in this dialog box. 

	
	A)  Format Cells    B)  Lock Cells    C)  Insert Protection    D)  Protect Cells


	97.
	In Excel, this function calculates a periodic payment on a loan.

	
	A)  PMT    B)  COUNT    C)  NOW    D)  IF


	98.
	In Excel, this is a built-in combination of formats that can be applied to a range of cells. 

	
	A)  Chart    B)  Autoformat    C)  Table    D)  Field


	99.
	A single sort operation can be based on up to this number of columns or fields of data. 

	
	A)  Four    B)  One    C)  Two    D)  Three


	100.
	This option in the drop-down list filter displays all records regardless of the value in this field. 

	
	A)  (All)    B)  (Blanks)    C)  (NonBlanks)    D)  (Custom)


Answer Key
	1.
	True

	2.
	C

	3.
	True

	4.
	D

	5.
	D

	6.
	E

	7.
	D

	8.
	C

	9.
	D

	10.
	D

	11.
	False

	12.
	E

	13.
	C

	14.
	A

	15.
	B

	16.
	C

	17.
	D

	18.
	True

	19.
	False

	20.
	A

	21.
	True

	22.
	True

	23.
	A

	24.
	E

	25.
	B

	26.
	D

	27.
	A

	28.
	B

	29.
	D

	30.
	C

	31.
	C

	32.
	D

	33.
	False

	34.
	False

	35.
	D

	36.
	E

	37.
	C

	38.
	A

	39.
	C

	40.
	A

	41.
	B

	42.
	False

	43.
	False

	44.
	D

	45.
	B

	46.
	A

	47.
	E

	48.
	A

	49.
	True

	50.
	False

	51.
	False

	52.
	C

	53.
	D

	54.
	False

	55.
	C 

	56.
	A 

	57.
	C 

	58.
	False

	59.
	False

	60.
	C

	61.
	E

	62.
	False

	63.
	True

	64.
	False

	65.
	False

	66.
	False

	67.
	False

	68.
	False

	69.
	C

	70.
	D

	71.
	D

	72.
	D

	73.
	B

	74.
	B

	75.
	C

	76.
	B

	77.
	C

	78.
	A

	79.
	A

	80.
	A

	81.
	C

	82.
	E

	83.
	A

	84.
	D

	85.
	A

	86.
	=if(b3<0,"negative",if(b3=0,"zero","positive))

	87.
	=sum(A3:A14)

	88.
	C

	89.
	D

	90.
	C

	91.
	(No Answer Provided)

	92.
	A

	93.
	D

	94.
	C

	95.
	D

	96.
	A

	97.
	A

	98.
	B

	99.
	D

	100.
	A
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